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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Qs A
SECTION A

Q1. Fr=feRan wemt & & wr® =1 evm 150 vrsat # wHTETaATeS TeTor iR ;

Critically examine tﬁe following statementsin about 150 words
10x5=50

each

(a)

(b)

(c)

(d)

(e)

URC-B-HST

“rerast wisita fiw ft 7y 9 1839 § w ot | R gy R W * g
STHAT o TIEBIT 1 Goha o |7

“Maharaja Ranjit Singh died in 1839. His death was the signal for an
outburst of anarchy all over the Punjab.”

“orm IR =l § S AR gare sTafaeE o qen anfianft sigha am
& o, 3 AT iyl Sl 3R wififer-gur sieH & W i |

“In the initial stages, when Indian nationalism was immature, just
sprouting, it found expression in many liberal religio-reform
P P y

movements.”

“20ef1 waTeq) %y & st Tt wre wfera § omme i v & A W
Gfshaar @ ®rf R qen s A fte SEaE @ Rl F e e
I AfeepRt W Hig fear 1

“In the early twentieth century, there came into existence a number of
women’s organisations, which operated more actively in the public arena
and focused more directly on women’s political and legal rights.”

“Urd | ¢ g TaleH 1 wetEqyl qeEl W A Hae UgE 5O % IEH w1
TrR R 9 o/ Uit @ saes fawy qun @ww w1 oft yfya fen

“The Trade Union Movement in India not only supported the call for
national struggle at critical junctures, but also impacted its course and
character in several ways.”

“ardfiE AT & AU ATl qT 3R WA % YR W @i WsvedeT sy
34 frepd W ugS T fawom & woham staEies @on aeifaa weae o |

“Based on his discussion with Indian leaders, as well as his own
perception, Lord Mountbatten soon came to the conclusion that partition
was the only practicable and feasible solution.”
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Q2. (a)
(b)
(c)
Q3. (a)
(b)

(c)
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“gt 7 TRt IR TRA TSt % el fyardt § sway w1 ant gy w0
foeqa T~ &5 W Trfifoss fRemm g fen — 3 alts 1w o s
T 3foeen wroft 3 Figorar % wnw v R 1”7 wRrar smen $ifv |

“It was Dupleix who had first showed the way of intervening in disputes
of the Indian rulers and thereby acquiring political control over vast
territories — a technique which was later perfected by the English East
India Company.” Elaborate.

1857 % fogie =l U T GHT 9% T 1 A H AR Rt @ e
U TS ST T | IHbh HRON Y @IS hae] 7 & 76T » &9 5 & 7
ek I 30 qea w3 enfies Radw it @t wheam A 6 9
fey e s agrl » e o e | fd=mr Hifv |

For long, the Revolt of 1857, has been mistaken to be a mere mutiny of
the Indian sepoys in the Bengal army. However, its causes need to be
searched for not only in the dissatisfaction of the army, but in a long
drawn process of fundamental social and economic change that upset the
peasant communities. Discuss.

T IAYh HAGER WRA § 1857 & gd g3 1855 — 56 1 €U T (Rigke)
T TG!SR TG o ?

Do you feel that the Santhal Hool (rebellion) 1855 — 56, was the most
effective tribal movement in pre-1857 India ?

I AR Fa A Toifas TaEr I g ¥ wrdt T w0 st oft
Th A IRadarg) WeA T8 W@, WY @ wengehl 3 S| e §
3. 7E H ot Wl R o | w3 qew 3@ W 9w E fe w0
1 TATYAT Th GRaqr ared” & ®9 0 Y 718 oft 2 wqw Hifdre |

In its political behaviour the Indian National Congress in its early
career was never a radical organisation, besides the founders of the
Congress involved A.O. Hume in their project. Do these facts verify that
the Congress was founded as a ‘Safety valve’ ? Explain.

T Y 39 27 & TgHa & o g 3o o Ty AqGear ao TP
gitger W SRl SaE 3 shifeertt wfafafien & forw il = fmfor e 2
foa=m hifvw |

Do you agree with the fact that the virtual failure of the
Non-Cooperation Movement and the gloom that descended on the
nationalist scene, created conditions for revolutionary activities ?
Discuss.

oM 1 39 fteeelt SNWR % &9 A @ T Red ST @ S sraEeEen
! aure foRan S gehar o1 | whemr il |

Planning was seen as a powerful instrument that could be used to
remove regional inequality. Examine.
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Q4. () “and Torfy ¥ Rfve qen faargreag & § widish s forg o weadt
Ry &1 g = wF F;ite AR et # o Td e afew Iieges
TARET F ST i TROURET & el @ Ssire faan |7 fag=an Sifsm

“In the divided and contestable space of Indian politics, Gandhiji could
claim for himself a centrist position because he alienated neither and
tactically combined the goal of the moderates with the means of the
extremists.” Discuss. 20

(b) “qrdta AT % TG WAA-SH WY 9gd TRASRIT % WY IS g, T
I T qET A WG S ATHHBAT & hed A BN HHAT HEAT T8 17

wferar same HifT |
“After Indian Independence India-China relations started on a high
note, but during the course of the coming years India had to face a bitter o
experience due to the Chinese aggression.” Elaborate. 20
(c) “YTNTS MYR W TS T Y13 UEHA Garhtu qAqT ThIHUl T THE &
o1 |” feoaeft Shifsre |
“The Reorganisation of the States on the basis of language was a major
aspect of national consolidation and integration.” Comment. 10
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SECTION B

Q5. Frferfaa wuat § @ T® &1 TTHIT 150 YSS1 § HHTCEHTHS iteron S :

Critically examine the following statements in about 150 words

each :

(a)

(b)

(c)

(d

(e)
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“reeT ¥ Rrgra $5 THR ¥ Awhe wif B @il qen fagedl i fam
g|”

“The principles of Enlightenment were in some ways a continuation of
the discoveries and theories of the Scientific Revolution.”

“G9 1789 H %@ B i » wrol B elwrfers qun grEr@ HRON *
G191y qoshre geand ot wfie of 17

“The causes of the French Revolution of 1789 included both long term
and structural factors, as well as more immediate events.”

“Irivacll ATET HREM!, TR a1 T&h qoigt ot % 35T & Wiy et
i~ % o "rfores qun Teifas R g 17
“Industrial Revolution had far reaching social and political consequences

with the advent of assembly line factories, urbanization and rise of the
urban working class.”

“Iu IMTeTE g I F Wgew H Gt fowa’ & w9 F I W0 S T A oy
v % Ghard disa 9, 3t 1 & W fova & wrErd) qut @ Wt
al”

“The multitude of newly independent countries came to be known as the
“Third World’, belonging neither to the First World of capitalist
democracies, nor the Communist Second World.”

“U0% 1948 T, 3 I el & gen & e o, 3R 39 7 &+ fow aFt
qall ¥ At i oft | oal o TRl % wew e i ok wew W 17

“The British were slated to withdraw from Palestine in May 1948, and
both sides prepared for that day. Violence between Arabs and Jews,
already endemic, escalated.”

10x5=50
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Q6. (a)
(b)
(c)
Q7. (a)
(b)
(c)
URC-B-HST

“QiferER T T T T o1 Teg 36 1789 @ 1791 % We BT I
Hift IREdHl 1 ggeal YeH H qAT 3T T Feue faenl % sl
o=t aen wearat w1 wmeda fmn |7 fag Al

“Napoleon was not a revolutionary but he solidified many of the
revolutionary changes of 1789 — 1791 and he himself supported most of
the ideas and proposals of Enlightenment philosophers.” Substantiate.

“Trer 1 g rfraron oft % grEwen & g2 w1 et 7 feeht w9 § ol
T B TAT W HEial g Afieh qu qh T 8 1 whar |7 SR T8
Ig U fom i e & wef A feoaoft sega AR |

“Lincoln’s main thesis was that the Slavery issue had to be decided one

way or the other and could no longer be evaded by compromise.”
Comment in the light of his role in the American Civil War.

“@q 1848 h it I At TS i wsfiq e qwr I @ SR
UE BISAT 991 | N T @ I8 IGRAG, UPATE 91 GHISETE Fd euiha o
W o1 |7 el Hifse |

“The 1848 revolutions frightened the crowned heads of Europe and

caused several to abdicate. Those who remained were cognizant of the
threats posed by liberalism, nationalism and socialism.” Comment.

“foreeh 1 6 AT AR’ BT WOl qun S T § 3a% g Ree e
viftrerreft %t 3 formmeh ) it =iEeR (Iron Chancellor) % 9 o faeama
F {17 anreneATars wha fifve |

“From Bismarck’s ‘Blood and Iron’ speech and his forceful actions to

achieve German unification, Bismarck came to be known as the Iron
Chancellor.” Critically examine.

1 AW T U A wea @ 6 g e 3g sfoem &1 @l fasas 3g
g7 ? AR are Fife |

Do you agree with the statement that the Second World War was
history’s most destructive war ? Elaborate.

37 aRfefaad <t faaam Hfe SAF R o9 1962 § wi| =t eesifan
BISAT IST o7 |

Discuss the circumstances leading to the French exit from Algeria in
1962.
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Q8. (a)

(b)

(c)
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wifed 4 form R w@ffm & farma sienfas s & 3 m S@mn qo
FAEEE % ¢ dwdl hl AR Hifeda 9 (J,0H.TH. TR, ) H TH HEEIRH
&1 Tz 2

How did Stalin build on Lenin’s legacy of Bolshevik Revolution and
introduce new elements of totalitarianism to transform USSR as a
superpower ?

M g H wte F qvarq fowa ToEifa 3§ w6 U e SHE T 3e o |
foveiyn Shifse 6 foFa TR g% TS mlie (.0H.T.) THAT TEmife sH
™|

A new configuration of power emerged in world politics after the end of
the cold war. Analyse how USA managed to become the sole superpower.

AT e K 76 w0 g8 wEn 3@ dm F ww wad 9%
Qe w Ffar % wror onhiehl ag-fmier % Rt % foe wefl-wifa dur =
9 |

Critically examine whether it was true that after a century of

dependency on Europeans, Africans were ill prepared for the task of
nation-building.

20

20

10






